A STORY OF UNITS Lesson 21 Exit Ticket m

Name Date

Use the RDW process to solve. Use a letter to represent the unknown.

Frederick buys a can of 3 tennis balls. The empty can weighs 20 grams, and each tennis ball weighs 60 grams.
What is the total weight of the can with 3 tennis balls?

2x L0+ 20
N/
19D + 206
K&~ N/
200

The ot wewhd js Q0D grams,

EU“KA Lesson 21: Solve two-step word problems involving multiplying single-digit 265

MATHH factors and multiples of 10.

This work is derived from Eureka Math ™ and licensed by Great Minds. ©2015 Great Minds. eureka-math.org
G3-M3-TE-13.0-05.2015



